BESFEARR [BFER BEAZARKE [(BEFR-REA] *EFEAOH

* RIAEE-6E AR REL LB TOMIE, HIRERBBE_LLEDOHKE., AF&]%% gg gg sA@T o
BESEMITHITSD R R e (R -] (HFBI # (BB, @ |Em EHED | L (I el .
KBRS z g fx é H i & 2| X 10| = | D & pin] [ el
GLAD ol (w (| 8 i i || 22| | B 2 | R |2 x| 2
5| & || B 5B\ 06| 2 || BE| X |3B | R |2 | 5B | | 2|1 | B2 4B NSRS 5 el 3 ST 4 A ESE 1 vl - E N
& [IhER 53 53 | FHMGFEEERE |
| PR 16 2 18 HHE 1|0 0 0 0 0 1
6 |EmEERK 3 1 1 5 EFE 1 1 0 0 0 0 1
F |HAXEER | 8 8 EHE 41 1 0 1 1] |o 0 6
E |20 1 1 Wiz IR 1 1 0 1 1o 0 0 3
ZZ | ERER ME| 81 [ o 1| 2] 1 85 " BEER 42/ 8|1(3]1 1 2 1 115 1 1 0 1 1| 58
g meEA | 19| 1]1]2 23 DT HEE 1 1 1 0 0 0 6
= &t 100 1] 2] 4] 1] 108 HEE 2 1 1 0 1 0 0 0 3
& |HHE 2 2 )2 1|0 0 0 0 0 1
M [hFRR 40 40 Fing 2|0 0 0 0 0 2
5 [PFER 33 3 36 It B2 IR 1 1 0 0 0 0 1
F |BEER 1 1 BRI 1] [1 0 0 0 0 1
B (HRIREER | 1 11 (3L - FASL 1 1 1 0 0 0 2
Z | ERER Mt 87 |o|o| 3| of 90 At 0(53[16]2[6]3]0]1][1]3][0]o] 3|0/ 1][1]ojo][o]ol1]8[1]f o] of 1 [2][o]2/o]ofojolof of1]o]1] 85
E 3 BERHE A 18 1] 1] 20 | FHSEEERE |
= &t 105 ojo 4] 1] 110 dbimE 1 1 0 0 0 0 1
SR 4 4 =2HR 1]2(1 1 0 0 0 0 3
& [IhER 43 43 1057 2411 1 1|0 2 0 0 0 8
N [PER 19 | 1 1 21 A|tEEE | 1]28|18|3|3|5]1|2| |3]1 0 7 3| [2]1]o0 0 57
4 [BEFH 2 1]l2]1] s I | HiE al 4] T2[1] T+ 0 0 0 0 8
F |FEREFER 1 1 HARE 43111 0 2 0 0 0 9
B (HAIXIEER | 5 5 FRE 1|0 0 0 0 0 1
Z [ Z0fh 1 1 RER 1 1 0 0 0 0 1
¥ |ERERA M| 74 | 1| 1| 4|1 81 E3z-F3L |1[0]0 1 1 0 0 0 2
£ BREF IR 28 1 29 At 240|33|6]8]7|1|3][3]3[1]1] 1|0/ o]1]o|o][o]o|o]i1|[o]f o] of of3[o]2]1]o|o|o][of o]o]o]of 90
&kt 102 1] 1[s5] 1] 110 | SMAEEERE |
& |HHE 3 3 dbimE 11 0 0 0 0 1
N [hFRR 41 41 EFE 1]0 0 0 0 0 1
3 |[PFER 21 2 23 =2HR 2|2]2 0 0 0 0 4
F |BEER 5 5 FEE 1]0 0 0 0 0 1
B (HAIXIEER | 3 3 Wiz I8 1|0 0 0 0 0 1
Z | ERER M| 13|00 2 75 L 32(12|3| |3| |4]| |2 1 1 2 1 110 1] |1 1| [1f 51
¥ | ERERA 19 [3[1]2 25 NETT 1 1 0 1 0 0 0 2
& a5t 92 [3]1[4]of 100 HAR 2|1 1 0 1 101 0 0 5
& |HHE 4 4 BEL 0 1 1 0 0 0 1
N [hFRR 36 36 FER 2|0 0 0 0 0 2
2 |[HER 15 | 1 16 #E)IE 1 1 0 0 0 0 1
F |BEER 2 2 FRe 1111 0 1 0 1)1 0 4
E(HAIXEER | 5 5 RINE 0 0 0 0 100 1
Z | ERFEA MEt| 62 [ 1|00 63 EL-FA3L | 4]1]0 0 1 0 0 0 6
£ BREF IR 17 1] 2 20 A&t 4|43|19] 7/ 0]4|0|6]0]2]0|0]|2|0] 0]o|1|o[1]olo]s|[1]f 1 | o 1|1[1]o]of2]1]1]of 1 |1]o]1] 81
& a5t 79 [1]1[2]of 83 | SHBEEERE |
& |HHE 5 5 dbimE 1]0 0 0 0 0 1
M |NFER 45 45 EHE 1 1 0 1 1] |o 0 2
T |PER 12 1 13 EFR 2|0 0 0 0 0 2
£ |BEFR 2 1 3 BB [1|1[3[1]1 1 0 0 0 0 5
E |HRXEER 6 6 UEE 2|0 0 0 0 0 2
Z | ERER M| 70 [ 0] 1] 1 72 23 (g I8 2[ 2|11 0 1 0 0 0 5
E 3 BREFER A 10 1] 1 12 Ileee 1[26| 4| |1 3 4|1 2|1 2 0 0 0 37
= it 80 [of[2[2[of s4 TR 3[2|1 1 0 1| [1] o 0 6
T (4R 5 5 HAR 3|13 [1]1 1 0 0 0 0 6
& |NER 46 46 BER 1[1 0 0 0 0 1
30 (IR 8 2 10 HE)IE 1]0 0 0 0 0 1
& |EmEPKR 2 |1 1] 5 Fing 3|11 1 0 0 0 0 3
E [BWAXEER | 7 7 ESL-FASL | 1 2|1 1 11 0 0 0 4
Z | ERER Mt 68 | 1| 1] 3 73 it 3[41]21] 6] 5] 1] 0] 4[5/ 0|0]0]5[2] 0]o|2]1]o]o]of[3]|o]ff o o] of2]o] |o|]o]o]ojo]| ofo]o]of 75
E 3 BREFER A 23 | 1 2 26
= &t 91 [ 2] 1 [ 5] of 99
T\ HHE 5 5 =40 R
ﬁ:JF‘z INERR 41 41 mgT"ﬂZOﬂ éfﬁ%? HBRE
29 [ 16 16 - - .
£ [BEER 7 7 A A
E [BAXEFR | 7 7 | | T | e 7 e | 2
% [Emmm MEt| 76 | 0] 0 0 76 - -
: BREHRA 27 2| 2 31 | SMeEEERE |
& &t 103[of2[2]of 107 aleeg [1[1]1 1[1 2[11]1] 7
3L - FASL 11 11 2
aF ]| afffe] |1 1] 9




